Lesson 8-3
ot B —
J © Solve. (Unit € The white flagpole is 38 feet tall
The gray flagpole is 20 feet tall.
) How much taller is the white

flagpole than the gray one?

M+20+16+25=_______

Answer: feet taller 1=
€© Solve. You may draw a O Use Xs to show the following
diagram. height data on the line plot.
Christina jumped 40 inches. Heights of Plants (centimeters):
This is 13 more inches than 38, 35, 36, 40, 37, 38, 36, 38, 4O

Justin jumped. How many

Heights of Plants
inches did Justin jump? ?

Number model:

l ' I l
L)

35 36 37 38 39 W
Height of Plant (centimeters)

inches Eﬂ m

© Writing/Reasoning Dan wrote this number model for
Problem 3: 13 + ? = 40. Do you agree? Explain your answer.

Answer:

-n

198  one hundred ninety-eight




